#73042 - Losi SCTE Front Bumper & Skid Plate(]

What's Included: 1 - Front Bumper, 1 - Front Skid Plate, 1 - Gearbox
Spacer, 3 - 4-40 x 1/2 buttonhead screws & 4 - 8-32 x 5/8" flathead screws.

Disassembly: Remove the stock front bumper and bumper support loop
(Losi #B2421) by removing the two 8-32 x 3/8" flathead screws from the
bottom of the chassis and the two 5-40 x 3/8" buttonhead screws from the
top, next to the shock tower. Remove the two remaining 8-32 x 3/8" flathead
screws securing the front gearbox to the chassis. You may discard all 6 of
these screws. Take note of how the stock front bumper separates from the
gearbox - this is where the new RPM gearbox spacer will fit.[)

Gearbox Spacer: Note the proper orientation of the gearbox spacer using
the illustration for reference. Slip the gearbox spacer between the chassis
and the gearbox, with the fingernail pull towards the top of the truck.(!

Bumper to Skid Plate Assembly: Using the included 3 - 4-40 x 1/2"
buttonhead screws, secure the front bumper to the front skid plate as shown
in the illustration. If you are installing an RPM Light Canister Set (RPM
#80982 or #80983), install it now (step #5 in the Light Canister instruction
sheet).[

Final Assembly: Using the remaining 4 - 8-32 x 5/8" flathead screws, bolt
the skid plate / bumper assembly to the truck. Use caution and make sure
the gearbox spacer stays in place during final assembly.

- ™, Bumper Gearbox Spacer
; Note Orientation \
- F- . i
- ... -'

e Skid PlateT\’ i




